M(ls) =2

No=2 > Config. 7.53
— | M(l) =1
—— ¥ Config. 7.50
As M(l) =2
[Ng = 6] ————» Config. 7.5/
Nos=0 M, =6
M) = 1 [———>Config. 7.45
My, =2
2 = » Config. 7.51
T=(3,1,1,1) M(ly) =3
— C’onﬁg 7.56
A/:GSZQ TR
M(ls) =1 —bR Config. 7.46
=0
L Config. 7.48
A M(ls) =3
[Ng = 5] M, =3 Config. 7.57
M) =1
N M. =3 #V Config. 7.52
5= 0| M > C’onﬁg 7.55
TJR
M, =1 ‘—b Config. 7.47
TIR
—> Config. 7.49
No=4 Adj® = Config. 7.89
Adj* =0 Config. 7.91 $°=(2,2,3,3)
Sd:{(13233,4)7(1723334)7(1737234)} 5:; (2 3,2 3) Conﬁg 772
4s Config. 7.80
CSL;™
D217 | Adj'=3
S;;°=(2,273,3)l::w
Sd_{(l 2 3 4) (1727473)u(1737274)} Ad] :2
57=23,2,3) Config. 7.77
Si=(2,2,3,3)
Sa={(1,2,3,4), (173,2,4),(17372,4»00_—’ Config. 7.74
S =(2323) Config. 7.82
Sa={(1,2,4,3), (1,2,4,3),(1,3,2,4)} 577 =(22,3 ) Config. 7.67
@=2323) Config. 7.76
Sgo_(2a273 )
Sa={(1,2,4,3), (1.3, 2,4), (1,3, 2 )} (23,2, Config. 7.73
d » Config. 7.81
S =(2,2,3,3)
R M, =2 Config. 7.70
Sd:{(1,2,3,4),(1,3,2,4)}M -, S0=1(2,3,2,3) Config. 7.19
T=(2,2,1,1) "™ Config. 7.87
S =(2,2,3,3)
=2 — > Config. 7.69
Ne=28,—{(1,2,4,3), (1,3,2,4)} a1 IR, Gy 77
—> Config. 7.85
. S =(2,2,3,3)
Sa=1(1, 3,2,4),(1,3,2,4)}»3oo 2500 Config. 1.75
852 =(2,2,3,3) d 2227 Config. 7.88
Nog=1 Config. 7.86
MConﬁg, 7.93
u» Config. 7.90
S =(2,2,3,3)
Ng=5] Config. 7.83
S =(2,3,2,3)
Config. 7.84
NL» Config. 7.92

Config. 7.71
Config. 7.68



